
Geometry Honors Unit 6 Review Answers 
1. C   

2. AF   AB = 4, AC = 7, BC =√65 
3. BD  ∠𝐴 = 45°  ∠𝐵 = 45°  ∠𝐶 = 90° 
4. AE 
5. Right Isosceles 
6. Equilateral and Equiangular 
7. Obtuse Scalene 
8. 𝑥 = 4. 3̅ 

9. 𝑥 = 12.5, 𝑤 =
6

7
 

10. No, ∠𝐶 ≅ ∠𝐴, thus all 3 angles are congruent 
which correlates to 3 congruent sides 

11. 12 
12. 𝑦 = −2𝑥 − 4, 𝑚𝑖𝑑𝑝𝑜𝑖𝑛𝑡 (−4, 4) 

13.   𝑥 = −8     𝑄𝑅 = 20   
14.   𝑥 = 10     𝐸𝐹 = 50   
15. a = 8, b = 0, sum = 8 

16. A, No  AB=5√2   BC=  2√5  AC= 3√2   XY= √61, 

YZ=4√5,  XZ= √13    
17. AC 
18. 𝐵𝐶𝐷 
19. B 
20. E 
21. YES, SAS 
22. YES, ASA 
23. YES, SSS 
24. NO,  No Donkeys! 

 

25)   
Statements Reasons 

(1) N is the midpoint of 
𝐴𝐵̅̅ ̅̅  

(1) Given 
 

(2) 𝑁𝑋̅̅ ̅̅ ≅  𝐵𝑌̅̅ ̅̅  (2) Given 
 

(3) 𝐴𝑋̅̅ ̅̅ ≅ 𝑁𝑌̅̅ ̅̅  (3) Given 
 

(4) 𝐴𝑁̅̅ ̅̅ ≅  𝑁𝐵̅̅ ̅̅  (4) Definition of a 
Midpoint 

(5) ∆𝑋𝐴𝑁 ≅ ∆𝑌𝑁𝐵 (5) SSS  (2, 3, 4) 
 

 

26)  
Statements Reasons 

(1) 𝑅𝑇̅̅ ̅̅ ≅  𝑅𝑉̅̅ ̅̅  (1) Given 
 

(2)  𝑇𝑆̅̅̅̅ ≅  𝑉𝑆̅̅̅̅  (2) Given 
 

(3) 𝑅𝑆̅̅̅̅ ≅  𝑅𝑆̅̅̅̅  (3) Reflexive 
 

(4) ∆𝑅𝑆𝑇 ≅ ∆𝑅𝑉𝑆 (4) SSS 
 

(5) ∠𝑇𝑅𝑆 ≅ ∠𝑉𝑅𝑆 
 

(5) CPCTC 

 

27)  
Statements Reasons 

(1) 𝐵𝑉̅̅ ̅̅  bisects ∠𝐸𝐵𝑂 (1) Given 
 

(2)  𝐵𝑉̅̅ ̅̅  bisects ∠𝐸𝑉𝑂 (2) Given 
 

(3) ∠3 ≅ ∠4 (3) Definition of an 
angle bisector 

(4) ∠1 ≅ ∠2 (4) Definition of angle 
bisector 

(5) 𝐵𝑉̅̅ ̅̅ ≅ 𝐵𝑉̅̅ ̅̅  (5) Reflexive Property 
 

(6) ∆𝐵𝐸𝑉 ≅ ∆𝐵𝑂𝑉 (6) ASA 
 

 

28)  
Statements Reasons 

(1)𝑇𝑃̅̅̅̅ ⊥ 𝐴𝑆̅̅̅̅ , 𝐴𝑃̅̅ ̅̅ ≅ 𝑆𝑃̅̅̅̅  (1) Given 
 

(2) ∠𝐴𝑇𝑃 AND ∠𝑆𝑇𝑃 
are right angles 

(2) Definition of 
perpendicular lines 
 

(3) ∆𝐴𝑇𝑃 and ∆𝑆𝑇𝑃 are 
right triangles 

(3) Right triangles have 
one right angle 
 

(4) 𝑇𝑃̅̅̅̅ ≅ 𝑇𝑃̅̅̅̅  (4) Reflexive Property 
 

(5) ∆𝐴𝑇𝑃 ≅ ∆𝑆𝑇𝑃 (5) HL 
 

 


